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There is a difficulty according to Abayey — 9aRY NP

OVERVIEW

Our mwn stated, ‘a person should not make a permanent threshing floor (3713) on
his own property, unless he has fifty cubits in all directions. A person should
distance his 77 from another person’s plantings or plowings in order not to
damage him’. The X3 understood that the second ruling calls for a different
amount of distancing (P>r X>w >72) than the first ruling (fifty nmX).! »ax resolved
this apparent contradiction, saying that fifty nX is required for a permanent 1713 (a
¥12p 1713), however for a 17 which is not ¥12p one must distance it only X>¥ 72
?°1, but not fifty mnX. The & ma then cited a Xn»72 which stated that one must
distance his ¥12p 170 fifty nvax from his neighbor’s plantings.? This, says the X713,
contradicts »aX. Our MdOIN explains the challenge to ™2k from this Xn>72.

n1voIN asks:
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It is astounding! What is the difficulty here?! Since the Xns»2 is discussing a
¥12p 173 and our ;7aw» (which »aX explained) is discussing a ¥12ap 119Rw 373!

MB0IN answers:
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And one can say that even a8 himself would have answered the seeming

contradiction in the 71wn,° by saying that the x9°0 is telling us what is the reason

for the ruling of 72X 1, like *wX 17 answered, 2R would have given this same answer -
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Were it not that »2X had a difficulty with this answer; namely, why is it

! The first ruling states that he must distance fifty n1x, while the second ruling states he must distance (his 7713) so
he should not damage his friend’s plantings; which can be a lesser amount than fifty nmx. See (also) footnote # 5.

2 The ®n>™2 concludes he must distance fifty NX in order not to damage his friend’s plantings.

3 The Rn™2 clearly states 7°¥i1 12 ¥12p 7703 PR,

4 >R explained that when the 71wn requires distancing 1> X?w 75 (and not X '), it is (only) by a ¥12p WX 1A
How can this ¥n°12 make a difficulty for »ax?!

5 >wx 17 reconciles the seeming contradiction in the 71wn (see footnote # 1), saying that the X9°0 which stated X7w 713
?°1 was not giving us a different measure for distancing, rather it was explaining the reason why we must distance "1
AN,

6 See footnote # 1.

71t is so obvious that the reason for 7pnai is P>r ®5w 70 that the 73wn would have no need to state it. Therefore,
concluded »ax that P1° Xow 75 is not an explanation (which is superfluous) but rather a different measure for
distancing.
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necessary to explain that the reason we distance 72X '1is order P X>w -
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But now that we see that in the Xn>92 he does explain that the reason for

distancing is P> N>w, we can also explain the 7w» in the same manner as the
XN"73, so the difficulty is why did not »2X explain it in this manner (as *wX 17 did).

SUMMARY
The question on »aX is why did he assume that P 5w >72 cannot be a reason, when
in the Xn>M1 it clearly uses p*1° Xow >73 as a reason.

THINKING IT OVER
Why indeed do the miwn and the Xn>72 give the reason for the 7pnnT that it is 72
PT XDW; is it not obvious, why the need to state the reason?!’

8 The question on *aX is not from the ruling of the Xn™12 per se (for there is no contradiction [see footnote # 4]),
rather the question on 2R is his assumption that >1> R >75 cannot be a reason why we are 71X '1 P>, but rather it
must be a new and different distance. However, we see that the X012 does state P> Xw 72 as a reason for '1 nprn
7R, so why did not *»ax understand the 7wn in the same way that the P°1> X?w >73 is only an explanation for "1 npnni
MR, but it is not a different MWW,

® See mwn nom1 on the WX 21 7"7 XA
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